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QID : 1 - In the following question, select the related word from the given alternatives.
Influenza : Virus : : Ringworm : ?

frafafaa wea #f faw v fwedt 7 3 wafta wee = g

g : far g ?
Options:

1) Bacteria

dFdfar

2) Fungi

Cr-co

3) Parasite

AT

4) Protozoa

Qe

Correct Answer: Fungi
Fdh

Candidate Answer: Protozoa
gt

QID : 2 - In the following question, select the related word from the given alternatives.

Fan:Blades::?:7?
famafafaa v # R v faeedt 4 9 wafta weg # I

dar:dE:;?:?

Options:

1) Bonnet : Car

a9 F

2) Room : House

FHIT : GT

3) Arc : Cirdle

geeavs : ged

4) Book : Chapter

qHTh @ i

Correct Answer: Book : Chapter
T © AT

Candidate Answer: Book : Chapter
qHh g

QID : 3 - In the following question, select the related letters from the given alternatives.
LSFW : NTHX : : PKWE : ?

eafaflm wa 3 R v fasent # & wafta werd # gl

LSFW : NTHX : : PKWE : ?

Options:

1) RYLF

2) RLYE

3) RLYF

4) RLGF
Correct Answer: RLYF
Candidate Answer: RLYF
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QID : 4 - In the following question, select the related letters from the given akernatives.
LMND:NQTW ::GHIJ: 7
Frfaftis wa A R are et & & gE st 31 gi

LMNOQ : NQTW : : GHI) : ?
Options:

1) ILDR

2) ILRO

3 ILMO

41 LRMO
Correct Angwer: ILOR
Candidate Answer: ILOR

QID : 5 - In the following question, select the related number from the given altematives.
11:120::13:7?
Feriafta mF A R e Rt # F wE sew F g

11:120::13:7
Options:

1) 165

2) 168

3 170

4) 169
Correct Answer: 168
Candidate Answer: 168

QID : & - In the following question, select the related number from the given altematives.
103:10609::106:7
ferfafas we & R are Reedt # @ st s 1 g

103:10609::106: 7
options:

1) 10606
2) 10306
3) 11236

4) 12636
Correct Answer: 11736
Candidate Answer: 11235

QID : 7 - In the following question, seledt the odd word from the given alternatives.

Trrfafs T # By 7T Rt F 9 faww g i I
Options:

1) Newspaper

FATET 97

2) Joumal

e afrr

3) Navel

AT

4) Magazine

afye&r

Correct Answer: Movel
I

Candidate Answer: Novel
I

QID : B - In the following question, select the odd word from the given alternatives.

ferfafias wee # 2w oo fewed! & 3 fawm an & it

2147


http://www.sarkariofficer.com

www.gradeup.co ﬁ
g p W grade.;

01/0842017 Staff Selection Commision

Options:
1) Definite
foidaa

2) Specific
fafirer

3) Doubeful
wie

4 Distinck
Jr

Correct Anawer: Doubtful
wiey

Candidate Answer: Doubtiul
ey

QID : 9 - In the fallowing guestion, select the odd letters from the given alternatives.

fr=fAilm w3 R v feredt # 3 Rt sast 2 giom

Optigns:
1) BEHK

2) MPS
3) PSvY

4) EHKM
Correct Answer: EHKM
Candidate Answer: EHKM

QID ; 10 - In the following question, select the odd letters from the given alternatives.

Fermrierfire W A Rm are et 7 3 fergm grewt 7 g

Options:
1) AD

PT
2)EH

45 M
Correct Answer: PT
Candidata Answer: PT

QID : 11 - In the following quastion, select the odd number pakr friom the glven akematives,

Frafafee nmF & By v et # 4 Rew sew i@ 3 gr|

Options:
1)12-48

27-28
N5-20

4311 -55
Correct Answer: 11 - 55
Candidate Answer: 11 - 55

QID : 12 - In the following question, select the odd number pair from the given alternatives.

Fefaiae me A R o Res! & & A o 3w = g

Options:
1)12-328

2)20-136
3)42-58

4)72-90
Correct Answaer: 72 - 90
Candidate Answer: 42 - 58

347
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QID : 13 - Arrange the given words In the sequence in which they ceour in the dictionary.

1. Ale

2, Align

3. Amend
4. Anatomy
5. Alpine

FrofiTes el 1 aeeeprel & AT AT % 3w o)

1. Ale

2. Align

3. Amend
4. Anatomy
5. Alpine

Options:
1) 51342

2) 35412
3) 12354

) 17534
Correct Answer: 12534
Candidate Answer: 12524

QID : 14 - Arange the given words in the sequence in which they accur in the dictionary.

1. Den
2. Dragon

3. Drop
4. Dask
5. Doom

Foriafis ol Y e & IR a FF ¥ IR |

1. Den
Z. Dragon

3. Drop
4. besk
5. Doom

Options:
1) 54312
2) 14523
3) 31245
4) 13245

Correct Angwer: 14523
Candidate Answer: 14523

QID : 15 - A series is given with one term missing. Select the corect albemnative from the given pnes that will complete the series.
ABDG?

wF FAFA R o f, B @ v 5 g i R e Rt & & a7 vl e g, 3 seEs wram st

ABD,G?

Options:

1K

gl

L

Nl
Correct Angwer: K
Candidate Answer: K

QID : 16 - A series is given with one term missing. Select the comect altemative from the given ones that will complete the series.
VWR, TUP, RSN, ?

wF 35 e &, o @ v T g i e oo et & @ a7 v e Ifaw A ot Frgw s

VWR, TUF, RSN, ?

Options:

1AQ

) FQL

LG

4) PRM

4147
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Correct Answer: PQL
Candidata Answeat: PQL

QID : 17 - In the following quastion, select the missing number from the given series.
3,10, 31,94, 7
FArATATeE wer & B ae Brssdt & 9 goa siE e o

3, 10,31, 94,2
Ooptons:

1) 197

2) 127

3)283

4) 317

Correct Answer: 233

Candidata Answer: 283

QID : 18 - In the foltowing question, select the missing number from the given seres.
3,4,12, 48,576, ¢

Farnfafla wem # e e frssdt 2 4 gea siw e fan

3, 4,12, 48, 576, 2
Options:
1) 27648
2) 13824
3 23040

4) 28166
Correct Answer: 27596
Candidate Angwer: 13524

QID : 19 - Sunita walks 45 metres towards south. Then tums right and walk another 45 metres. Then turn right and walks for 20 metres to reach point L. She then
again turns ko her right and walks for 45 metres. How far {in metres) is she feom pairk L?

e ZRreT 1 3T 45 et sl §1 R ar gl & o 45 Ave werd 1 R g Apeeh @ dwr 20 ey wee feg L ofad 31 9y T 8 ard ageh d w45
T T # T T L AR g (A e

Options:
1) 50

2)45
325

4) 60
Cotrect Answer: 45
Candidate Answer: 45

QID : 20 - Privan¥ ranks 6" from the bottorn and 28% from the top in & class. How many students are there in the class?

aFEEmRsT AR AciawsRABIvm ) s Fam o i

Options:
1131

2322
3) 32

4134
Comrect Answer: 33
Candidate Angwer: 33

QID : 21 - In a row of peaple Manu is 7 from bottom end of row. Shrey is 10 ranks above Manu. If Shrey is 8™ from top, then how many peaple are thare in this
row?

it Y v i o, Aoy A1) 5 EICR 7 2 B A, e A 10 T 39T §) A A 3R OR 3 8 91 8, 9 g ke R o 2

5/47
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Options:
1)25

)26
324

423
Correct Answer: 24
Candidate Answer: 25

QID : 22 - 1n the following quastion, select the word which cannct be formed using the letters of the given word.

Instructor
frfatts Reedl 3 8 77 18 90 S R TT0 4R & 3T F ST S E S S

Instructor

Opticns:
1) Rust

2) Tort
3) Stop
4) Stint

Correct Answer: Siop
Candidate Answer: Stop

QID : 23 - In the following question, select the word which cannot be formed using the latters af the given word.

Encourage
Friafte Reed A & 77 ¢ 90 S FET TI0 42 3 3RT 7 ST S FE T SR

Encourage
Options:
1) Courage

Z) Court
) Race

4} Encore
Correct Answer: Court,
Candidate Answer: Court

QID : 24 - In a certain code language, "SURGEQN” is written as "QLHDURY" and "CORNER" is written as "OHKULF'. How is "SHADOW" written in that code
language?

e FIfiTse 1 s ¥, "SURGEON" #t "QLHDURV"™ B wrar & @a "CORNER™ # "OHKULF" Frar =1ar ¥) 5@ &5 3141 4 "SHADOW™ 51 v sy v
ATAM?

Options:
1) DRTERS

2) TRADEY
33 UQBCFU

4 TFBCPY,
Correct Answer: TRADEY
Candidate Answer: TRADEY

QID : 25 - In a certain code language, "SUN" is written a5 "54" and "PUT" is written as 57", How is "CAT" writhen in that code kanguage?

v [Affme 1T 7 A, "SUN" 7 "54" Toren STE § anr "PUT” 1 V57" T3ET 1 &) 39 B3 J19 3 "CAT" B e W e v

Options:
128

224
35

4] 36
Correct Answaer: 24
Candidate Answer: 24

6147
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QID : 26 - In the following question, by using which mathematical operatars will the expression became correct?

1472741674
Ferfaitya M &, Re oo Rt # B e 7ioeha dfFnat o smir e & faom ran weiete o 8 sream?

14?2472 4624

Options:

1) x, =, > and x

®, o+, Ol X

)3, %, > and %

- X, > T X

)=, 4+, =and x

A, =T T

4+, +, »and x

St BT X

Correct Answer: <, %, » and =
=, X, > T X

Candidnte Answer: &, %, > and %
=+, %, > T X

QID : 27 - In the following question, carvect the equation by Interchanging two signs.
43 +9-6+3x8=50
ot T 3, Rredr 2 1o dficarat & s & agas R oo wemor o af@ S

43+9-6+-3xE=50
Optons:

1)+ and =

- W x

2)+ and +

+ -

3)—and +

- a4t +

4)—and x

—HﬂTK

Correct Answer: —and +
— a4 +

Candidate Answer: [ NOT ANSWERED ]

QID:28-FA4*9 % 2=473nd 9 * 0% 6=84, thenS*I%B 7 =7

ATA*OY 2= A7AMI* 0% G =BAD, A5*3% 7 =7
Options:

1)38

251

D

446

Correct Answer: 46

Candidate Answer: [ NOT ANSWERED ]

QID:29-1f1/4/3 = 254 and 3/6/8 = 479, then 5/2}7 =72

oL 1/4/3 = 254 T 3/E/B = 4A7B A, W57 =7

Qptions:

1) 416

2) 461

3) 268

4) 638

Correct Answer: 638
Candidate Answer: 639

747
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QID:30-
In the following question, select the number which

can be placed at the sign of question mark (?) from
the given alternatives.

TeeTag v # By o et # § uy ew
(?) & TARA X T arelr TEAr F giam

T 3 2
6 11 5
5 1 8
72 ? 50

Options:

1) 38

2)40

3)42

4) 44

Correct Answer: 44
Candidate Answer: [ NOT ANSWERED ]

QID:31-
In the following question, select the number which
can be placed at the sign of question mark (?) from
the given alternatives.

reafRfem vy # Ry or Rredt & @ o e
(?) & TUE | HA T T F T

~N| O~
=~ o BN

bl oo =

Options:
1)9

2) 10
3)11

4) 12
Correct Answer: 11
Candidate Answer: [ NOT ANSWERED ]

B8/47
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QID :32-

How many quadrilaterals are there in the given
figure?

& o gl 3 Revet wgale ¥

Options:
12

3
34

a5
Correct Angwaer: 2
Candidate Answer: 2

QID:33-

How many riangles are thers in the given figure?

& 8 e # Reae Do ¥

Options:
1) 24

226
Nz

430
Correct Answer: 26
Candidate Answer: 26

947
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QID : 24 - In each of the following question below are given some statements followed by some conclusions. Taking the given statements to be true even if they
seem to be at variance from commonly known facts, read all the condusions and then decide which of the given conclusion togically follows the given statements,

Statements:

I. Al women are hardworking.
II. Al intelligent are advocate.
IL Somwe intelligent are wamen,

Condusions:

I. Some advocates are women.

Ii. Scme hardworking are women.
IT1. Some women are advocate,

IV. Some hardwoarking are intelligent.

mﬁﬁﬂmmmﬂﬁgﬁrmmmm:ﬁﬂﬁmemmmt it IAF AT A Fvat d e g s 1 8 fased o 3
TR fediTeT &1 TR BT 71T F197 A Frepd, BT a0 Faet F A IR 2

B

L 9t Afgond A €1
IL. T IR a R £
1L F& afkaa wfeant §1

e

I g 3 Afend 1

I, Fo Agereh #igerd §1

1L T Afeand 76 £

V. T3 HTel TRA E

Options:

1) Only conclusion {I[), (IIL) ard {IV) fallow
Fae el (I1), (1I0) T Treed (V) Ty &
2) Only conclusion (I}, {II} ard {I11) fallow
Fer Fredt {1, (1) wan freand (TT) w1 &
3) Only conclusion (I}, ([T} and {1V) follow
hae Teretr (1), (101} o o (1V) T
4 Al conelusions fallow

|y ek wdr §

Correct Answer: All conclusions follow
ot et T

Candidate Answer: Only conclusion {13, {I11) and (IV} follow
F Forea (I, (1L} 3 Tt (V) T §

QID : 35 - In each of the following question below are given some statements followed by some conclusions. Taking the given statements o ba true even if they
soem to be at variance from commenly known facts, read all the condusions and then decide which of the given conclusion togically €ollows tha given statemants.

Statements:
1. Some pins are cups.
. No cup Is book.

Condusions:
1. Seme pins are books.
II. Some pins are not books.

Y R T e A F T FU AT I T I FU T AT T R R I E, STeilh 3 T T 3T @ T 8 W ) i e o o
Ry farnffyer =% fir Row 1w e 3 foreed, Ryw e wuelt & Uy o ke §)

W
LEFE R
IL. = 9 &0 A5 B

e

L. 3 ot o )

It Fo foe Jead 7 6

Options:

1) Cnly conclusion (I) Follows

e ek (1) wr

2) Only conclusion {IT) fallows

g famrd (1) @t ¢

) Bath conclusion follow

it @ forend vl ¥

4) Nalther condusion {T) nor conclusion (I1) folows
= & fr=d () R /o orerd (D) TR R
Correct Angwer: Only conclusion (11} follows
e el (11) Jgt ¥

10047
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Candidate Answer: Neither conclusion (1) nor conclusion (11} follows
& ar P (1) 3 & & P (1) wér g

QID: 36-

Three positions of a cube are shown below. What
will come opposite to face containing ‘Q’?

&= o g A AT FaEu S R & ‘Q
gH o & Audd T I

F B P L
,,/ r -
Options:
1)P
2)R
3)s
4)7

Correct Answer: S
Candidate Answer: 5

QID : 37 -
Three position of a cube are shown below. What will
come opposite to face containing 'R'?

& 1% ue Y A 3T gRmh i § R gE
ol F faudia =T amdame

Z R.7| Z R A7 28 ’
g |® w (Y] | e |Y]
Options:
1Y
2)G
3)w
4)C

Correct Answer: C
Candidate Answer: C

11/47
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QID:38-
In the given figure, which letter represents carnivorous
plants which are not green?

& o ol &, Fla @ er O e o St

w g € @ e &2
//"_“‘ /_‘“\\
Carnivorous/ & b Plant/
HraTerd! g™ e
; e\/ f :
= \_>/ Green/
c +—
S =24
Options:
1)d
2)g
3)e
af

Correct Answer: d
Candidate Answer: d

QID:39-
In the given figure, how many yellow birds are
there?

&1 a8 gl A, foneet gt wefr &2

Birds/ 1 N3 g }_ Fly/
sy ZONT N, I=ar
25518 /

W /‘_ Yellow/

Options:
1) 25

2)32
3)18

4) 20
Correct Answer: 32
Candidate Answer: 25

igr:dt-. ¥

12/47
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QID : 40 -

In the given figure, how many waier are eithertap or
shower?

& g srgi #, Recen s @ @ Ao W@ geRr
2

31
Tap/Ae —» +— Water/slol

43
s

57 Shower!
(68 49

Options:
1) 168

2111
3125

4) 108
Correct Answer: 111
Candidate Answer: 11)

QID : 41 -

Which answer figure will complete the pattern in the
quesfion figure?

WA W 3R D T Al & uldwT B @@
Il

12
<
N | A

Options:
1

ﬁgradq i

13147
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Correct Answer:

R
-

Candidate Answer:
\

QID:42-

Options:

_qurect Answer:
I

Candidate Answer:
Lo

QID:43-
5

Options:

Fie

4)

=2

Correct Answer:
5

Candidate Answer:
Lo

14/47
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QID:44-
From the given answer figures, select the one in
which the question figure is hidden/embedded.

& 7% 3 Apaal # B 3@ W APl @ gow
ora & uy 3l BkE &

K

Options:
1)

4)

s

Correct Answer:
ls2

Candidate Answer:
Lo

QID : 45 -
L
Options:
L))

L

2)

Lo

3)

5

4

L

Correct Answer:
P

Candidate Answer:
L2

QID : 46 -
Lo

Options:

1)

L

2)

L

3)

L

4)

L2

Correct Answer:

L.
Candidate Answer:

L

fgr:dt-. ¥

15/47
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QID: 47 -
5

Options:
1
L2

2)
[P

4

ez

Correct Answer:
B

Candidate Answer:

L

QID:48-
[
Options:

)
lez
2)
=
3)
s

Correct Answer:

B

Candidate Answer:

[

QID : 49 -
A word is represented by only one set of numbers as given in any one of
the altematives. The sets of numbers given in the altematives are
represented by two dasses of alphabels as shown in the given two
matrices. The columns and rows of Matrix-l are numbered from 0 o 4 and
that of Matrixl are numbered from 5to 9 A lefter from these matrices can
be represenled first by its row and next by ils column, for example, "I can
be represented by 12, 44, etc | and ‘D’ can be represented by 75, 97 elc
Similarly, you have to identify the set for the word “CHEAT”.

Teh 9% Hae UH HEA-UHE GR1 i omn ¥, Sher B fasedt & @
foreh v & faam o &) Rwed F Ru v sEm-meE AHERl F Q @t
gy 2o o € St B R ow @ wreel & € anegel & wwew o
afts 1 FEA0 § 4 ¥ T IrgEl F1 57 91 3 AR F UF HEW A
oS I oft 3R 3 A TN T o @b S ae B s
& faw 1 @ 12, 44, R arr quin o wwa & W D @ 75, 97,
afe g eefar o @aar §1 S e & Wuew uw § Rr e
“CHEAT" & fow @efp @ usai=an &

Matrix-| Matrix-I
I FHYE|
0f1]2]3]4 5(6(7|8|9
O[A[T|G|C[N 5|T|D|S|A[E
1|C|INJI|G|H 6[S[A[T]E]|D
2[T|[H|C|N[G 7TID[E[A[S]T
3[N[G]JH]|1]C 8|A[T|E|D]|S
4 G|C[N[H][T S|E[S[D[T[A

16/47
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Options:
1) 10, 21, 68, 77, 56

2) 34, 43, 95, 85, 96
3) 41, 14, 76, 99, 79

4) 22,00, 87, 67, 67
Correct Answer: 41, 14, 76, 99, 79
Candidate Answer: 41, 14, 76, 99, 79

QID : 50 -

A word is represented by only one set of numbers as given in any one of
the alternatives. The sets of numbers given n the altematives are
represented by two dasses of alphabets as shown in the given two
matrices. The columns and rows of Matrix- are numbered from 0 to 4 and
that of Matrix-ll are numbered from 5to 9. A letter from these matnces can
be represented first by its row and next by its column, for example, ‘Q" can
be represented by 12, 43, etc, and ‘M’ can be represented by 67, 99, elc.
Similarly, you have to identify the set for the word “PRICE”.

T e FOW ww gear-ar anr cufan amm b Star @ Rweut & &
foreht s & fea wrn 1 Reedt & v v suarwsE dew & ) ait
GRT Zfe I B, S B RU o @ sl & b woye & w9 il
ufs @ FEar 0 4 & 3 eyl #15 ¥ 0) 5 ARl § uE HEW A
uea 3WR ufes ik ag & woew dwar g @t s s §1 sEnor
& fAw 'Q W12, 43, 0 TR Zef ST wEA R aW M S 67, 99,
M a quRm S T ¥ R e ¥ A R F Ru e
“PRICE” ¥ fav ¢ ot werar &1

Matrix-1 Matrix-1l

SR el
0]1]2]3]4 5|6|7|8]9
0|Q|T|S|R|P S|I|M|E|C|D
1|R|P|Q|S|T G|E|C|M|D| I
2|5|Q|T|P|R T|CID| 1 [M]E
3|P|S|R|T]|Q g[M|E[D|I]|C
4|[T[R|P[Q]S ID[I[CIE[M

Options:
1) 23, 03, 55, 66, 99

2) 42, 24, 88, 56, 65
3) 11, 10, 96, 97, 85

4) 04, 41, 69, 75, 57
Correct Answer: 04, 41, 69, 75, 57
Candidate Answer: 04, 41, 69, 75, 57

QID : 51 - What is the full form of FDI?

UWHETHTS T HETEH w9 A 7

Options:

1) Foreign Direct Input

e el 3 ge

2) Foreign Direct Investment

seet faeel e

3) Fiscal Direct Investment

et faedr fraer

4) Fiscal Direct Input

weae faed gege

Correct Answer: Foreign Direct Investment
gt el e

Candidate Answer: Foreign Direct Investment
weat fadah Baer

QID : 52 - In which situation, wages and prices chase each other at a very quick speed?

forver FRufer 34, e o a7 O g T IR et 1Ty 3 Sreeor e €7

17/47
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Options:

1) Disinflaticn

b

2) Reflation

weaerfifa

3) stagfiation

AR Al

4) Hyper-infiation

i FereRIR

Correct Answer: Hyper-inflation
T FETEhRy

Candidate Answer: Hyper-inflation
3T FErERy

QID : 53 - Banking comes under which of the following sector?

Few Pt & & fre A Foimrta e 2
Optigns:

1) Primary sector

R g

2) Secondaty sector

e &

3) Tertiary sector

GalLE-El

4) Both Secondary and Tertiary sectors
Correct Answer: Tertiary sector
g &1

Candidata Answer: [ NOT ANSWERED ]

QID : 54 - Which of tha followirg is a basic charactenstic of 'Oligopoly'?

Frafafia 59 i o wefaer' Hr v sensy i 7
Options:

1) Many sellers, many buyers

yftrw faee, feem e

2) Few sellers, few buyers

ey fadar, ¥1e &

3 Few sallers, many buyers

e T8, A d

4) Many sellers, few buyers

witeR R, e &

Correct Answer: Few sellers, many buyers
e fagrar, Hit=s Fm

Candidate Answer: [ NOT ANSWERED ]

QID : 55 - What was the main objective of the 5T Five Year Plan?

ey it T e we w4 U

Optiona:

1) Remaval of paverty and achievement of self-reliance
arfial e qur sreafasier fs s

2) Faster, more Inclusive and sustainable growth

o, s mETE qur el e

3 Inclusive growth

gt fer

4) None of these

A & i A

Correct Angwar: Removal of poverty and achigvement of self-reliance
T IEHFT T HTH AN R T

Candidate Answer: [ NOT ANSWERED ]

QID: 56 - is a form of government in which the rulers are elected by the people.

AT T 0 T § TAEA A et w1 gA w3
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Options:

1) Autocratic

g

2) Manarchic

R EEEI

3) Demaoaratic

WEATAF

4) Authoritarian

FfEEREEY

Correct Anawer: Democratic
AT

Candidate Answer: Democratic
AFATTE

QID : 57 - Who said 'The Ged, who gave us life, gave us the liberty at the same time"

"FTEA et g ofe T 3w v E waan S dr i, e e ar?
Opticns:

1) Marx

AT

2) Mlato

et

3) Jeffarson

FERT

4) Locke

Aw

Correct Answer: Jefferson
ELzeic)

Candidata Answer: Marx
AT

QID : 38 - What Is "Patriarchic Society'?

R TR BRI 4 iR

options:

1) System that values women mare than men

Ry e TAEd Ao Y ot 3 3 wews R o &
2) System that values men more than wamen

iy et et et o Hfgenat & afies Arew e &
3) Systern Ehat. values both men and women equally

Wty ST R e A AR A ww A R S
4) Systern that values elders

i soeE e 49 # otw A Rar wr

Correct Answer: System that values men mare than women
T ST TR e & At ¥ iU e R Aen &

Candidate Answet: [ NOT ANSWERED ]

QID : 59 - Members of Rajya Sabha are elected for how many years?

TST T & T2 Frow vt & o it ARy s &2
Optiong:

1) Two yeats

= ag

2) Threa years

CEEL

3) Five years

ofg a§

4] Six years

oF T

Correct Answer: Six years
GEav

Candidate Answer: Five years
Lo

QID : 60 - Under which pardoning power of the President, duration of sentence is reduced without changing its character?

fRraRfe T 9 wegaf fr it o arera afFT & Hewf, £ 6 wpfd o Rear gz s il oF w5 Hodrg?
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Options:

1) Commutation

TLHIN

2) Remissian

afey

3) Respite

BRI

4) Reprieve

wiyeiaey

Correct Answer: Remission
afEr

Candidate Answer: Remission

ofer

QID : 61 - In Pocket Veto, the Presidant of India can keep a bill for how much duration?

e dier # T F oty e r P e s S Rr T e e R
Opticns:

1) 1 month

T HIT

2) 6 months

BE AT

3 12 months

T AR

4] Indefinite peried
Rt Fa & T

Correct Answet: Indefinite period
Hifad 7 & faw

Candidata Answer: [ndefinite period
wiaTSra wra & faw

QID : 62 - The President's seat can be left vacant for how much duration?

gty & o2 B ara F B e © a5 a 2

Options:
1) 6 Months

6 AT
2) 3 Months

395

3) 9 Months

S AE

4) 12 Months

127%

Correct Answer: € Months

6 A%

Candidate Answer: [ NOT ANSWERED ]

QID : 63 - Which oonstitutional Amendment Act of India reduced voting age from 21 years to 18 years?

AT & FRE BRI Feiet AT A Aoa S0 1 30 T # 21 a9 7 16 T J o o
Optiong:

1) 4279 Amendment Act

42a T FfEfEae

2 61* Amendment Act

g1t wviraa xfRfaas

3) 74" amendment Act

74 af Ty vftfeEa

43 839 Amendment Act

831 sy wffaaw

Correct Anawer: 5§19 Amendment Act
6137 svirae i

Candidate Answer: §1% Amendment Act
6lal w¥iree wfafe
QID : 64 - In which year East [ndia Company was ceased to wark and Indiz was completely undertaken by British Govt.>

o o e s sl ot i s e A B s dv s o TR e & ot iR Y o o
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Options:

1) 1838

2) 1919

3 1858

4) 1898

cotrect Answer: 1358
Candidate Answer: 1915

QID : 65 - At which location, a sculptor of charict of Harappan time was found?

TR T2 T, T WA T 1w AT e g o
Options:

1} Lothal

G

Z) Banawali

Eocn)]

3) Daimabad

L

4} Kalibangan

Eocicony

Correct Answer: Daimabad
Lo inicy

Candidate Answer: [ NOT ANSWERED ]

QID : 66 - First Satyagrah started from Champaran for apposing the cultivation of

THEIROT W N T T AR #Fr 2 F ey fiva = )
Options:

1) Cotton

wIH

2) Indigo

B

3) Silk

Eins

4} Kesar

o

Correct Answer: Indigo
=

Candidate Answear: Indiqo
i)

QID : 67 - Who was the founder of ‘Vikramshila University'?

‘FReA T fvafiearas & dwams &l me
Options:

1) Vijay Sen

forerg B

2) Atisa

Enn g

3) Dharampal

He e

4) Ballal Sen

AT A

Correct Answer: Dharampal
e

Candidate Answer: Pharampal
b

QID : 68 - When India got Independence, who was the Prime Minister of England?

S HITA T G, 3H FAT §Id03 & e Fia 47
Opticns:

1) William Bentick

Tarferw ¥z

2) Warren Hasting

EEcgascr:y

3) Margaret Thatcher

T #a

4) Climart. Atlee

Foroaive ey

Corract Answar: Climent Atiee
fomioe vl
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Candidate Answer: [ NOT ANSWERED ]

QID: 69 -

al

Options:
11-a2-b3-¢

2)1-b,2-a,3-¢
31-¢,2-33-b

4l-8,2-¢c3-b
Correct Answer: 1-¢,2-3,3-b
Candidate Answer: [ NOT ANSWERED ]

QID : 70 - Which of the following mountzin range separates Europe and Asia?

FrrTen A & ot o 9da e g mar of¥m =y w7
Qpticns:
1) Rocky Mountain Range
T T e
2} Himalayan Mountain Range
frmTer o A
3) Ural Mount2in Range
T AT
4) Appalachian Mountain Range
O T AT
Correct Answer: Ural Mountain Range
Luclenk o
candidate Answer: Himalayah Mountain Range
AT T AEw

QID : 71 - Suez Canel connects which of the follawing water bodias?

B mw Arafafae & o e o et S §2
Options:

1) Mediterranean Sea and Black Sea

ST IR A A AP

2) Mediterranean Sea and Red Sea

IFTET {OR AW I BT

3) Pecific Ocean and Atlantic Ocean

TUTE FETHAR AU 3 AETa

4) Mediterranean Sea and Arctic Qcean

MFEA HIAT YN 3ot i Hgrav

Corract Answar: Mediterranean Sea and Red Sea
HATH {747 &e /Y

Candidate Answer: [ NOT ANSWERED ]

QID : 72 - Which of the fallowing Indian state does not share International land berder?

TRl 1 A s 1 ey A A St e dAT Frr A e 2
Options:

1) Jammu and Kashrir

ST T R

2) Uttar Pradesh

It e

3) Bihar

Frer

4) Madhya Pradesh

HET HHr

Correct Answer: Madhya Pradesh

AR ST

Candidate Answer: Jammu and Kashmir
S T AT

QID : 73 - In which of the following city, world's secand longest beach is located?

TrfRle A & T 1R T o g wER e wAd ac e
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Options:
1) Mumbai

ires)

2) Kolkata
HIHRT

3) Puguchetyy

4) Chennai

Lo

Correct Answer: Chennai

ek

Candidate Answer: [ NOT ANSWERED ]

QID : 74 - Which of the following brings back deowygensted biood from different parts of human body to heart?

fermfafte o o wia e e e A oit F R e @ s e b
Options:

1) Veins

o

2) Arteries

st

3) Nerves

E(ECay

4) Lungs

e

Carrect Answer: Veins
i

Candidate Answer: Veins
Fed

QID : 75 - Which of tha followiryg is 2 warm bloaded animal?

Ferafafia 59 9 v ) @ 9 aea
Options:

1) Turtle

AT

2) Snake

|t

3) Ape

LTy

4) Lizard

Torrelr

Correct Answer: Ape

ey

Candidate Answer: [ NOT ANSWERED ]

QID : 76 - Where is bile storad?

fired =1 gafgd gtar @2
Options:
1) Liver

2) Kidney

3) Gall bladder
Rreares

4) Spleen
foremiy

Correct Answer: Gall bladder
farean

Candidate Answer: Gall bladder
Framz

QID : 77 - Which of the following is not a connedtive tissue?

ferieflrn A & S o3 T Foaw a8 &7
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Opticns:

1) Adipose Tissue

TR Frdd

2) Compact Bone

g wiEr

3) Cordiac Muscle

=a Hiwh

4) Areolar Tissue

ofier o

Comrect Answer: Cardiac Muscle
=T Al

Candidate Answer: Cardiac Muscle
=T ATy

QID : 78 - Normally how many times the human heart beats in a minute?

& T3ree & Ao #7152 FAeaa: PR IR a3 2
Optigns:

182

175

372

4) 85
Correct Answer: 72
Candidate Answer: 72

QID : 79 - Muscle fatigue occurs due to accumulation of .

AFSTErst & ow FrFgam AN
Options:

1) ATP

e i

2) ADP

wéndr

3) Lactic Acid

ooy

4} Carbanic Acid

wf s

Correct Angwer: Lactic Acid

#fs e

Candidate Answer: [ NOT ANSWERED ]

QID : BO - The inexhaustible source of energy of stars is due to .

TheRT # st & wr wE W R ¥
Options:

1) Corwersion of hydrogen to helium
FIEE o S # afeee

2} Converston of helium to hydrogen

Biferas =1 grsgiai # aiada

3) Decay of radioactive elements

A T =

4) Excess of oxygen

it s

Correct Anawer: Canwversion of hydrogen to helium
e w iferaer o aftas

Candidate Answer: | NOT ANSWERED ]

QID : 81 - Which of the following waves has the highest frequency?

Ferreferfara 31 9 T ator A Jmafa sy s &2
Opticns:

1) Radio

ey

2) Infrared

k.creg

3) Microwaves

TR T

41 Gamma-rays

AT ST

24147


http://www.sarkariofficer.com

www.gradeup.co ﬁ
g p W grade.;

01/0842017 Staff Selection Commision

Correct Answer: Gamma-rays
AT FTar

Candidate Answer: Infrared
Hawd

QID : B2 - Why the clzar nights are cocler than the coudy nights?

|G T, A 1o Ut A & wat @ 37
Options:

1) Conductanoe

AT

2) Condensation

weYqor

3} Radiation

Gl

4} Insulation

AR

Cotract Angwer: Radiation
fafa

Candidate Answer: Condensation
Fareor

QID : 83 - The subatomic particle that does not have any electric charge is afan .

T e ¥ R O R g e S A 8
Optigns:
1) Electron
EL
2) Proton
LI
3) Neutren
g
4 All options ane cornect.
M EEa T el

Correct Answer: Neutron

Candidate Answer: Neutron

cil

QID : B4 - Dot-Matrix is an examgple of which of the follawing?

s At fmfaiam ¥ & R samaor &2
Opticns:

1) A software

o HFeIE

) Scannar

HA

3) Printer

e

4} Keyboard

e

Correet Answer: Printer
b1

Candidnte Answer: [ NOT ANSWERED ]

QID : 85 - Which of the following pair is INCORRECT?

R & & 2w gen ol 55 b
Options:

1) 10 MB - 10240 kB

10 7Y - L0240 ¥l
2)1GE - 10240 MB

1 S - 10240 TR

3)1TB- 1024 GB

1 &Y - 1024 S

4) 1 KB - 1024 Bytes

1 %t - 1024 age

Correct Answer: 1 GB — 10240 MB
1 Y - 10240 e

Candidata Angwer: [ NOT ANSWERED |
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QID : B6 - Which of the following gas is used in bulb?

Frlefle A St s e e A e i

options:
1) Hydrogen
[eon)

2) Carbon-dioxide

FTAH SIS

3) Carbon-mong-oxide
T BT HEAET

4) Argon

o

Correct ANSwer: Argon
W

Candidate Angwer: Argon
i

QID : &7 - Chigrine gas is a major compenent of which of the following?

Farfta v Prrafafire A 3 fra & AeT gen §7
Options:

1) Water

G

2) Tear gas

¥y im

3) Liquefied Petroleusn Gas
gfta Wftmw i

4) Gobar gas

ey |

Correct Answer: Tear gas
34

Candidate Answer: Tear gas
w3

QID : 88 - What is Brine soltion?

e e FE?

Options:

1) Excess salt + water
HF TAE + U

2) Silver

=&

3) Excess Ethanal + water
¥t g + T

4 Excess starch + water
T TR+
Cotrect Answer: Excess salt + water
¥ A + Y

Candidate Answer: [ NOT ANSWERED ]

QID : 89 - pH scale ranges from .

e Rmdr AT __ B
Optons:

1)1t 14

1814

Dite?

187

30w 14

o014

Qo7

o0&y

Correct Answer: § @0 14
p&14

Candidate Answer: [ NOT ANSWERED ]

QID : 90 - Which of the following primarily causes lead pollution?

frrriafn A ¥ saaa: Fia dr 5o @ e s g?
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Options:
1) CFL Lamp
o o
2) Automobile Battery
Aferrarss iy
3) Polymer
g . .
4) Diesal Engine
BYter FaAer
Correct Answer: Automobile Battery
i

Candidate Answer: Diesel Engine
AT TAA

QID : 91 - What was the main aim of Montreal Protocol?

HiiPgaa s T g w9 ar
Opticns:

1) Protection of Ozane layer

3irra e i s

2) Bio-civersity Conservaton

S AT & dweor

3} Global Warming

velaer i

4) Climate Change

EECekiicno)

Correct Answer: Protection of Ozone layer
AT H T AT

Candidata Answet: Global Warming
woirarer e

QID : 92 - Supersonic jets cause thinning of which layer?

YR ST B 9T & R &7 87
options:

1) O layer

Qy 99

2) O3 layer

03 9%

3) €Oy layer

[Pl )

4) S0; layer

5C; A

Correct Answer: O layer

0, T

Candidate Answer: [ NOT ANSWERED ]

QID : 93 - What s the name of the app launched by the Union Ministry of Power to pravide real time information sharing on power supply?

T R T Zan Ry gl $ anafis w1 & g O 56 & fv o £ 0§ o @ o e
Dptions:

1) URIAMITRA

FATRAT

2) BHIM

o

3) URJA

w4

4) UMANG

FHIT

Correct Answer: URJAMITRA
Erired

Candidate Angwer: URJA
FAr

QID : 94 - Who discovered 'Portland cement'?

“irédoy e v anfreer Read By oy
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Opticns:
1) Michae| Faraday

e HE

2) Guglielmo Marooni

et ArRfAr

3) Joseph Aspdin

S TR

4) Isaac Newton

TR TR

Correct Anawer: Joseph Aspdin

SR TEATEA

Candidate Answer: [ NOT ANSWERED ]

QID : 95 - Nitin Thimmaiah is related to which sport?

i Bt e W W WEfAT 42
Options:

1) Table Tennis

R TR

2) Boxing

HFEATAT

3 Cricket

findT

4} Hockey

B

Correct Answer: Hockey

e

Candidate Answer: [ NOT ANSWERED ]

QID : 96 -

al

Options:
1) 1-d, 2-c, 3-2, 4-b

2) 1-c, 2-d, 3-a, 4-b
3] 1-b, 23, 3-9, 4-¢

47 1-d, 2-3, 3-b, 9¢
Corract Answer: 1-d, 2-c, 3-a, 4-h
Candidate Answer: 1-¢, 2-¢, 3-3,4-b

QID : 97 - Which Chief Minister has been awarded with the Transfarmative Chief Minister Award’ on May 8, 20177

8 /%, 2017 ¥ frw 7o AR o ARt O R s & wemiea i g
Optigna:

1) Yogi Adityanath, Uttar Pradesh

Tt smfeemary, Seat aeRn

2 Chandralyabu Maidy, Andhra Pradesh

AN ATy, T W

3 Arvind Kegriwal, Delbi

IerE o, et

4) V¥asundhara Raje Sdndia, Rajasthan

BRI R, I

Correct Answer; Chandirzbabu Maidu, Andbra Fradesh
Candidate Answer: [ NOT ANSWERED ]

QID : 98 - Who wrote the book named 'Exile'?

A A e e e &2
Options:

1) Barkha Dutt

QN e

2} valmik Thapar

aArwdta waT

3} Tasleema Nasreen

AT T

4} Ranbir Singh Sindhu

R T Ry

Correct Answer: Tadeema Nasreen
TEEAT S
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Candidate Answer: [ NOT ANSWERED ]

QID : 99 - Pakistar has leased Gwadar part to state-run firm of which country for 40 years?

QTRFEAN = TATEX devTg i fFE &7 Y T ggmT Jaiaa S &1 40 79 & Tor oF (7ra) o feam 7
Options:

1) Iran

=

2) China

LI

3) Afghanistan
ERTuCioC]

4) India

T

Correct Answer: China
#@

Candidate Answer: [ NOT ANSWERED ]

QID : 100 - Which neighbouring country of India is not among the founding members of SAARCY

HT 7 e wn wEnd G e w denes weey # ¥7
Options:

1) Nepal

B

2) Bangladesh

ELeicu

3) Afghanistan

wmifAEaa

4) Bhutan

He

Correct Answer: Afghanistan
i

Candidate Anawer: Bangladesh
LI

QID : 101 - If N = (v7 - ¥2¥{v7 + 1), than what is the value of N + (1/N)?

e N = (V7 - VIV + VI E, ST N + (1/N) & 3T gen?
Options:

1) /2

ns

3110

4)13

Correct Answaer: 5
Candidate Answer: [ NOT ANSWERED ]

QID : 102 - What i5 the simplified value of (2 + 1)(22 + 1327 + 1){2% + 1)?

(2+ 122 + 12 + 1)(28 + 1) =7 ia A T Y
Options:

1H28.1

2211

»n2-1

425 .1
Correct Answer: 215 - 1
Candidate Answer: [ NDT ANSWERED ]

QID : 103 - Which one among V18 + v4, ¥I1 + ¥v3, ¥7 + ¥7 is the smallest number?

V10 + /4, V11 + /3, V7 + T E mea SR dEm s Wi
Options:

1) V10 + v4

2311+

NV + V7

4) All are equal

Y AT §

Correct Answer: V11 + V3

Candidate Answer: [ NDT ANSWERED ]
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QID : 104 - What is the smallest value that must be added to 705, so that the resultant is a perfect square?

709 # 98 F W BT B TR TEAT S I, FF wRT 297 o gt T e

options:

18

2)12

320

4332

Correct Answer: 20
Candidate Answer: 20

QID : 105 - If 39N is divisible by 11, then what is the value of N?

afey 34N, 11 3 e £ §, @Y N & A= == g
Options:

101

23

34

459

Correct Anawer: 1

Candidate Answer: [ NOT ANSWERED ]

QID : 106 - P is four imes 25 efficient as Q. P can complete a work in 45 days less than Q. [f both of them work together, then in how many days the work will be
oompleted?

P & &R Q W AR T #1 P U FE B BT H Q& ZACT T A T ;45 R T A & R 2 Ty w awe § o e Rt F g g

oprigns:

1) 10

2)12

315

43 30

Correct Answer: 12
Candidate Answer: 30

QID : 107 - Two inlat pipes can fill 3 cistern in 00 and 12 hours respectively and an outlet pipe can empty 80 qallons of water per hour. All the three pipes working
together can fill the empty dstemn in 20 hours. What is the capatity fin gallons) of the tank?

) e o ST B WA 10 T 12 5 W Wy wed § A o TRt aren A v ai # 20 Fere el sy 6 s 3| o ey St s @il & & 20 9¥ & Wy we
e ot cek koo

Optons:

1) 360

2) 300

3) 600

43 900
Correct Answer: 660
Candidate Answer: [ NOT ANSWERED ]

QID : LO8 - What will be the net discount {in percentage) after two successive discounts of 40% and 20%3?

0% AT 20% #Y 3t FEE g F ag e () ge (v W) a2 gefe

Options:
1) 60
2)68
3) 52
4) 42

Correct Answer: 52
Candidate Answer: [ NGT ANSWERED ]

QID : 109 - An articke is sold for Rs 6552 after a discount of 22%. What is the marked price (in Rs) of the article?

22% 1 T F TE0F TEF P 6552 3. A A A & T F 3403 FA (T, ) FWE?

Options:
1) 8430

2) 8425
3) 8400

4) 8750
Correct Answer: 8400
Candidate Answer: [ NDT ANSWERED ]
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QID :110-IF 2A = 3B and 3B = 2C, thenwhatis A:B: C?

FW2A=3BTW3I6 =2CH, A 5: CFAAT?
options:

1)3:2:3

22:3:2

N1:3:1

412:3:2

Correct Answer: 3:2:3

Candidate Answer: 2 :3:2

QID : 111 - Raman, Manan and Kamal are partners and invest in a business such that Raman invests 2/5th of total and Manan ivest 3/Bth of the total. What is the
ratio of profit of Raman, Manan and Kamal respectively?

A, AR T ST WK § T v e #F A v ) e o Trle w6 275 s am A g fade w 378 W e 191 | TN TS, Aot A wAa
TS FT AT T E?

Options:
1)16:15: 9

2)16:15:31
3)2:3:5

4)15:16:9
Correct Answer; 16:15:9
Candidate Answer: [ NOT ANSWERED ]

QID : 112 - What is the average of the squares of the first 19 natural numbers?

WF 19 wepfas S & 39t £ sitea w2 2
Options:

1) 124

2)1275

3)130

431335

Correct Answer: 130

Candidate Answer: [ NOT ANSWERED ]

QID : 113 - In a match, average of runs scored by 5 players is 49, If the runs scored by four players are 75, 30, 62 and 21 respectively, then how many runs did
the 5t player had scored?

v #Ha # 5 Rwifeat & At £ Hiws 99 §) AR 4 @it & @ wam 75, 30, 62 9un 21 §, at 5 & Rard 7 R @ aAre g
Options:

1) 43

2) 49

3)57

4) 89

Correct Answer: 57

candidate Answer: [ NOT ANSWERED ]

QID : 114 - A man bought 15 mangoes for a rupee. How many mangees were sold for a rupee so that there is a koss of 25%7

o S 1 E A 15 3T Sl #1 1w A R R e 3 6wl R 25% ek gg e
Qptions:

1) 10

212

318

4 20

Correct Answier; 20

Candidate Answer: [ MOT ANSWERED ]

QID : 115 - By selling a fan for Rs 1900 a man has 3 loss of 5%, then at what price {in Rs) should he sell the fan to gain 20%?

U A T TE GET 1900 F. F I 9 5% A @iy @, o 9w 30 few fa () o a9Ar Iive S B 38 20% 51w g2
Options:

1) 2000

2) 2400

3) 2600

4) 2800

Cotrect Answer: 2400

Candidate Answer;: 2800

QID : 116 - If 40% of a2 number is 290, then what is the number which is 20% more than the initial number?

T TF TT FT 40%, 290 ¥, @ 35 TGO T T & S AT O6ar & 20% e &7
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Options:

1) 870

2) 725

3) 825

4) 680

Correct Answer: 870

Candidate Answer: [ NOT ANSWERED ]

QID : 117 - The price of table depreciates every year by 20%. If the value of the table after 2 years will be Rs 32000, then what is the present price (in Rs) of the
table?

U A & HEd A AAH aF 20% F1EW @ &) AT 2 A A A 7 Hew 32000 F. §W A A F A6 7o (5 7) FE?

Options:
1) 48000

2) 44000
3) 50000

4) 51000
Correct Answer: 50000
Candidate Answer: 48000

QID:118-
A motorcyclist left Gg minutes later than the

scheduled time but in order to reach its destination
21 km away in time, he had to increase his speed
by 12 km/hr from the usual speed. What is usual
speed (in km/r) of the motorcyclist?

wﬁm&%ﬁa’mﬁﬁtﬁﬁﬁmﬁag

Brae & & & Brwear § Aftes s 21 e
I AT TE W FAT W Tgge & fom 3H
Hoelt |Een ofg & 12 B ufy e fr afe
TET US| AWk AT WEET  Ad
(fr.af. ufy eer &) @ &2

2) 35

3)42

4) 64
Correct Answer: 42
Candidate Answer: [ NOT ANSWERED ]

QID : 119 - A bus starts running with the initial speed of 33 km/hr and its speed increases every hour by certain amount. If it takes 7 hours to cover a distance of
315 km, then what will be hourly increment (in km/hr) in the speed of the bus?

U 39 33 f AL ufa e i g 0 @ a9 RN SR E A SR A A vas e A e R A b R s AL Rgh Ry R Amm W g, draw
6 arely 3 i wer gy (PR Wit srer ) e @i

Options:

1)1

2)2

3)3

4)4

Correct Answer: 4

Candidate Answer: [ NOT ANSWERED ]

QID : 120 - What is the compound interest (in Rs) on Rs 12500 at the rate of 12% per annum compounded yearly for 2 years?

12500 %. oY arf¥er HatsieT 2@ 12 wiave ufa ad &1 a3 § 2 a9 7 TR aren 9wy 2 (597 ) F 87
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Options:
1) 3000
2) 2980
3) 3050
4) 3180

Correct Answer: 3180
Candidate Answer: [ NOT ANSWERED ]

QID : 121 - An amount was lent for two years at the rate of 20% per annum compounding annually. Had the compounding been done half yearly, the interest
would have increased by 241. What was the amount (in Rs) lent?

T U R i W gEn 2 a6t & A 20 s wf ot awgf s # ax & sur Ram ) awgf s i g w, 24 241 5. 7% S § 3UR
& a1 U (3 #) = g

Options:

1) 10000

2) 12000

3) 20000

4) 24000

Correct Answer: 10000

Candidate Answer: 24000

QID:122-
e

What is the ratio of male and female population respectively in 2015?

a9 2015 & T T AfFEnt N SAEEH F FAU: I F4 §?

Options:
1)12:7

2)5:7
3)7:5

4)5:3
Correct Answer: 7 : 5
Candidate Answer: 12 : 7

QID:123-
le

In 2016 male population is how much percent more than the female population?

TF 2016 F TE 1 TAGEA Afgen3it 1 FAREAT F T wferra fow 82
Options:

1)25

2)20

3)23

4) 28

Correct Answer: 25

Candidate Answer: 20

QID:124-
L

In 2014 female population is what percent of total population?

ad 2014 7 ARt H STeRE F FAwEA F B v

Options:

1) 62.96

2) 37.03

3)20

4)31.13

Correct Answer: 37.03

Candidate Answer;: [ NOT ANSWERED ]

QID:125-

Female population in 2015 is what percent of female population in 20147

¥ 2015 & migenst £ serEe af 2014 & #fgendt & sagem & o ot &2
Options:

1) 25

2) 80

3) 150

4) 125

Correct Answer: 125
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Candidate Answer: [ NOT ANSWERED ]

QID : 126 - If diagonals of a rhombus are 16 ¢m and 30 cm. then what is the perimeter {in om) of the rhombus?

Ifer Pt wragiT & 0T 16 A0, 7 30 A, &, & 37 AEO@IR ST afe (3.9, &) w2 §e

Options:
1)32

) 64
3)34

a4} 68
Correct Answer: 68
Candidate Answer: [ NOT ANSWERED ]

QID : 127 - The ratio of curved surface area of two cones is 1 ¢ 4 and the ratic of slant height of the two cones is 2 ¢ 1. What is the ratio of the radius of the two
oones?

2 AEHT & 7 56 ¥ 4D T HAA 12 4 § T 2t it F A Sk angare 20 1 @) @ ol & Fisan Fr s s grm?
Options:

11:2

2)1:4

3N1:8

q1:1

Corract Answar: 1: 4

Candidate Answer: 1 : 4

QID : 128 - Radius of herisphere is twice that of a sphere. What is the ratio of total surface area of hemisphere and sphere?

o Jpioirey B P wak aivel Y Fisar 3 QW &1 ardena aur a0 & pe (S alyee T SRNIA 0 B0?
Options:

1)3:1

2)12:1

3)4:1

461

Correct Answer: 3:1

Candidate Answer: [ NOT ANSWERED ]

QID : 129 - A solid cylinder having radius of base as 7 cm and length as 20 ¢m [s bisected from its height to get two Identical cylinders. What will be the parcentage
increase in the total surface area?

7 2030 3T i T2 o 20 93, ST A OF S A9 1 IEA SR O SRS S 2Y U AR A S0 ST §| S S PR S A Ry alava &
g

Options:

1)29.78

Z) 25,93

1) 27.62

4)22.83

Cotrect Answer: 25.93

Candidate Answer: [ NOT ANSWERED ]

QID : 130 - If the perimeter of a rhombus is 80 om and one of its diagonal is 24 cm, then what is the area {in cm2) of the thombus?

afy et wovaealer o ofwry B0 AT, & e e ven Rt s e 24 LA, &, A 3w e @ e (8 AR 31 ) g

Options:

1) 218

z)192

3) 384

4) 768

Correct Answer: 384

Candidate Answer: [ NOT ANSWERED ]

QID : 131 - IF {p2 + 62)/(r? + s2) = (pq)/(rs), then what is the value of {p - g}{p + q) in terms of r and s?

T (02 + N2 + $) =(pqi (s} §, A r A s H T A (p - qi(p + o) W AT
Optiona:

1) {r + s} f{r - 5

2){r-s) f{r + 5)

3} {r + s} f(rs)

) (rs) Ar - 5}

Correct Answer: [r - 5] f(r + §)

Candidate Answer: [ NOT ANSWERED ]
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QID : 132 - If the expression (px3 - 8x? - gx + 1) is completely divisible by the expression (3x2 - 4x + 1), then what will be the value of p and g respectively?

T =T (px° - 8x2 - qx + 1), o1 (3x? - 4x + 1) T ofe: Fnfore e &, & da7er: p 2 q & A= /4 g
Options:

1) (21/4, 15/8)

2) (6, 1)

3) (33/4, 5/4)

4) (1, 6)

Correct Answer: (33/4, 5/4)

Candidate Answer: (1, 6)

QID : 133 -If a = 2017, b = 2016 and ¢ = 2015, then what is the value of a® + b® + ¢? - ab - be - ca?

afZ a = 2017, b = 2016 and ¢ = 2015 &, & a? + b? + ¢ - ab - b - ca &1 Al F4T g7
Options:

1)-2

2)0

3)3

4)4

Correct Answer: 3

Candidate Answer: 0

QID:134-

Options:
1)3

2)7
3)11
4)18

Correct Answer: 18
Candidate Answer: [ NOT ANSWERED ]

QID:135-
les

Options:
1)1

2)3
3)0

4) 21
Correct Answer: 21
Candidate Answer: 3

QID: 136 -In APQR, 4P : £Q : £R = 2:2: 5. Aline parallel to QR is drawn which touches PQ and PR at A and B respectively. What is the value of 2PBA - 2PAB?

APQRH £P:2Q:«R=2:2:5%| U 1@ QR & FAEIAT W AT § S PQ 4T PR #Y H#3M: A AT B 9T T &t §1 2PBA - £PAB &7 Al 41 §7
Options:

1) 60

2)30

3)24

4) 36

Correct Answer: 60

Candidate Answer: [ NOT ANSWERED ]

QID: 137 -
I

Options:
1)5

2) 10
3)15

4) 20
Correct Answer: 10
Candidate Answer: [ NOT ANSWERED ]
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QID : 138 - If ADEF is right angled at E, DE = 15 and «DFE = 60°, then what is the value of EF?

afy ADEF, E 97 §HEIOT §, DE = 15 47 2DFE = 60° &, &Y EF &1 1 41 gm?

Options:

1) 5v3

2)5

3)15

4) 30

Correct Answer: 5v3
Candidate Answer: 30

QID:139-

Options:
1) 80

2)64
3) 124

4)72
Correct Answer: 64
Candidate Answer;: [ NOT ANSWERED ]

QID : 140 -
2

Options:
1) 3v2

2) 43
3)3v5

4)3v3
Correct Answer: 3v/5
Candidate Answer: [ NOT ANSWERED ]

QID : 141 - If sec 8 + cosec 8 = V2 sec(90 - 8) then what is the value of cot 87

ufE sec 8 + cosec 8 = V2 sec(90 - 8) &, &Y cot B T HI=T FT £7

Options:
1) V2

2)2
3)v2-1

4) V2 +1
Correct Answer: 2 + 1
Candidate Answer: [ NOT ANSWERED ]

QID : 142-
le:

Options:
1) cosec 8 + tan 8

2)sin® +cos B
3)(1-cosB)/f(1+cos@)

4) (1-5sin8) / (1 + sin 8)
Correct Answer: (1 -cos 8) /(1 + cos 8)
Candidate Answer: [ NOT ANSWERED ]

QID : 143 - If sin (8 + 23°) = cos 58°, then what is the value of cos 567

[fE sin (8 + 23°) = cos 58° ¥, AT cos 50 FT A F4T §7

Options:
1) 12

2) 1v2
3) V32

4)0
Correct Answer: 1/v2
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Candidate Answer: V'3/2

QID: 144 -
i

Options:
1) V3

2)12
3) V32

4)5
Correct Answer: 5
Candidate Answer: 5

QID : 145 -

Options:
1)0

2)1/2
3) 12

4)1
Correct Answer: 1
Candidate Answer: [ NOT ANSWERED ]

QID :146 -
L

How much does he spend (in Rs) on Rent?

aE o o fraen =0 (5. /) s 7
Options:

1) 2080

2) 2275

3) 2470

4) 2840
Correct Answer: 2080
Candidate Answer: 2080

QID : 147 -
e

How much more does he spend (in Rs) on the Saving and Fuel taken together than Transport?

afagt T gore A aF Tad aur $ue F fAar a3t wa (5. #) a2
Options:
1) 5850
2) 6060
3) 7020

4) 8420
Correct Answer: 7020
Candidate Answer: 7020

QID: 148 -
b2

Had his income been Rs 22,000, how much less he would have spent on Miscellaneous (in Rs)?

afg Faft 3w 22,000 %, gl, & fafdu s (3. 7) fhaen 5 gan
Options:

1) 510

2) 680

3) 765

4) 935

Correct Answer: 680

Candidate Answer: [ NOT ANSWERED ]
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QID : 149 -

L=

If he invests 65% of his savings on purchasing gold, then how much amount {in Rs) does he spend on gofd?

T I AT TS T 65 AT T WA W S0 3T 8, O I et ae = (3 &) A

Optigns:
1) 332

Z)ala
3) 3522

4) 3718
Corract Answer: 1718
Candidate Answer: 3718

QID : 150 -

Pl

What will be the approximate difference (in Rs} between the average expenditure on Saving, Rent and Fuel and average expenditure on Food, Transport and
Savings?

o, B aur #UA R T e s & A a1 KIS, TR | aua W BT v T & e & g & (3. ) ST PRaEr AR B

Options:
1133

2) 444
3) 417

Q) 467
Correct Answer; 433
Candidate Answer: 433

QID : 151 - In the following question, some part of the sentence may have errors. Find cut which part of the sentence has an error and select the appropriate
option. If 3 sentence is free from error, select Wo Ermor,

Several visitors are (1)/ expected to visk the (2)/ trade Falr this weekend, (3)/ No Ecror (4)
Options:

1

N2

32

44

Correct Answer: 4

Candidate Answer: [ NGT ANSWERED ]

QID : 152 - In the following question, some part of the sentence may have emors. Find cut which part of the sentence has an error and select the appropriate
option, If a sentence is free from error, select ‘Mo Ermor’,

Our prafassor taught us that {1)/ one should respect the {2)/ religions of others as much as his own. (3)/ No Error {4)
Optians:

1)1

22

N3

.4

Correct Answer: 3

Candidate Answer: [ NOT ANSWERED ]

QID : 153 - In the following question, some part of the sertence may have erors. Find out which part of the sentence has an error and select the appropriate
option. If a senterce is free from error, select Mo Error'.

No sooner had she arrive that her {1}/ friends arranged a reception in her {2}/ honowr in the best resort in the town. {3)f No Error {4)
Optons:

11

22

3H3

414

Corvect Answer: 1

Candidate Answer: 3

QID : 154 - In the following question, same part of the sentence may have errors. Find cut which part of the sentence has an error and select the appropriate
option. If 2 sentence is free from error, select 'No Error'.

Tel) me (1) what all you know about it (2)/ before I take a decigion in the matter. (3)/ No Error {(4)
Options:

11

22

az

44
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Correct Answer: 3
Candidata Answeat: 2

QID : 155 - In the following question, some part of the sentence may have emors. Find oot which part of the sentence bas an error and seledt the appropriate
aption. If a sentence is free from eiror, select 'Wo Emor,

During India's struggle for [1)/ freedom many brilliant students (2)/ gave up their studles by Bhagat Singh's call. {3)f No Error {4}
Optigns:

171

X2

N3

44

Correct Answer: 3

Candidate Answer: [ NCT ANSWERED ]

QID : 1556 - In the following question, the sentence given with a tlank to be filled in with an appropriate word. Select the Comect alternative out of the four and
indicate it by selecting the appropriate option.

Suman has for the final round of the competition.
Options:

1) superior

2) decided

3) declared

4) qualified

Correct Angwer: qualified

Candidate Answer: qualified

QID : 157 - In the following question, the sentence given with blank to be filed in with an appropriate word. Select the correct altemative out of the four and
indicate it by selecting the appropriate option.

Her supporters began to and she was left alone.
Options:

1) fall over

2) fall away

3) fall off

4 fall on

Correct Answer: fall away

Candidate Answer: fall away

QID : 158 - In the fallowing question, the sertence given with blank to be filled in with an appropriate word, Select the correct altemative cut of the four and
indicate it by selecting the appropriate option.

No than fifteen boys failed in a class of forty.
Optigna:

1) little

2) less

3) few

4) fewer

Correct Answer: fewer

Candidate Answer: less

QID : 159 - In the following quastion, the sentenca given with blank ta be filled in with an appropriate word. Select the correct altemative cut of the four and
indicate it by selecting the appropriate option.

Sania was compensated
Options:

1) for

2) of

3) against

4) over

Correct Angwer: for
Candidate Answer: for

the loss of her belongings at the airport,

QID : 160 - In the following question, the sentence given with blank to be fMled in with an appropriate word. Select the correct altemative cut of the four and
indicate it by selecting the appropriate option.

Surnj is acquainted
Optians:

1) of

2) with

3) feom

a3 ta

Correct Answer: with
Candidate Answer: with

Kapil.

QID : 161 - In the following question, out of the four alternatives, select the word similar in meaning e the word given,

Amateur
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Opticns:

1) timid

) beginner

3) weary

4) dispirited

Correct Answer: heginner

Candidate Answer: [ NDT ANSWERED ]

QID : 162 - In the following question, out of the four alternatives, select the word similar in meaning to the word given.

Gumption

Options:

1) acumen

2) starry

3) futile

4) fallaw

COrrect ANSWer: acumen

Candidate Answer: [ NOT ANSWERED ]

QID : 163 - In the following question, out of the four alternatives, select the word similar in meaning to the word given,

Lacanic

Options:

1) shrewd

2) whim

3) dimax

4) concise

Correct Answer: concise
Candidate Angwer: whim

QID : 164 - In the following question, out of the four aternatives, select the wiord similar in meaning to the word given.

Valedictory

Options:

1) hesitant

2) terminal

3) ridicule

4) deception

Correct Answer: terminal

Candidate Answer: [ NOT ANSWERED ]

QID : 165 - In the following question, out of the four alternatives, select the ward similar in meaning to the word given,

Denguement

Opticns:

1) dimax

2) systematic

3) improper

4) glorious

Correct Answer: climax

Candidate Answer: [ NOT ANSWERED ]

QID : 166 - In the following question, out of the four alternatives, select the word apposite in meaning to the word given.

Bucolic

Optiong:

1) rustic

2 dull

3} tranguil

) fierce

Correct Answer: fierce

Candidate Answer: [ NOT ANSWERED ]

QID : 167 - In the following question, out of the four alternatives, select the word apposite in meaning to tha word given.

Compandium

Options:

1) expansion

2) reference

3) precis

4) outine

correct Answer: expansion

Candidate Answer: [ NOT ANSWERED ]

QID : 168 - In the following question, out of the four alternatives, selact the word opposite in meaning to the word given.

Chastise
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Opticns:

1) praise

) resist

3) prefer

4] repel

Correct Answer: praise
Candidate Answer: resist

QID : 169 - In the following question, out of the foeur alternatives, select the word opposite in meaning to the word given.

Daunt

Options:

1) rejoice

2) encourage

3) decrease

4) discard

Correct ANSwer: encourage
Candidate Answer: discard

QID : 170 - In the following question, out of the four alternatives, select the word opposite in meaning to the ward given,

Dblivious

Options:

1) hideous

2) victoricus

3) conscious

4) advantagecus

Correct Answer: conscious

Candidate Answer: [ NOT ANSWERED ]

QID : 171 - In the following question, out of the four alternatives, select the altemative which best expresses the meaning of the idiom/phrase.

An iron will

Options:

1) A widely debated lasue

2) A fair bargain

3) An impracticable plan

4] A firm opinion

Correct Answer: A firm cginion
Candidate Answer: A firm opinion

QID : 172 - In the following question, out of the four alternatives, select the altermative which best expresses the meaning of the idiomy/phrase.

Get into a soup

Options:

1) To make things difficuit
2) To be worrisome:

3) T be familiar of

4) To get an advantage

Correct Answer: To make things difficult
Candidate Answer: To be familiar of

QID : 173 - In the following question, out of the four alternatives, select the alternative which best expresses the meaning of the idiom/phrase.,

Haul over the coals

Optiong:

1) Talk irrelevantly

2) Laugh heartily

3) To scold

4 Without hope

Correct Answer: To scold
Candidate Answer: Talk imelevantly

QID : 174 - In the following question, out of the four alternatives, select tha alternative which best ewpressas the meaning of the idiom/phrase.

To carry tha day

Options:

1) Te run away

2) Te die while in service

3) To take an unimportant task
4) Te succeed

Correct Answer: To succeed
Candidate Answer: To succeed

QID : 175 - In the following question, out of the four alternatives, select the altemative which best expresces the meaning ef the idlom/phrase,

GO over
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Opticns:

1) Continue

2Z) Review

3) Harmonize

4) Terminate

Cotrect Angwer: Review

Candidate Answer: [ NDT ANSWERED ]

QID : 176 - Improve the bracketed part of the sentence.

Metia was tno daver to (see through Rohan's tricks).
Options:

1) see at Rohan's tricks.,

2} see intr Rohan's tricks.

3) see Rohan's tricks.

4) no improvemnent

Correct Answer: no improvement

Candidate Answer: see Rohan's tricks,

QID : 177 - Improve the bracketed part of the sentenca,

He has been working (off and on) for several years on this thegry.
Options:

1) regularly

2) anor off

3) on and off

4} no improvement

Correct Answer: on and pff

Candidate Answer: regularly

QID : 178 - Improve the bracketed part of the sentence.

I am definitely late, the bus (will have left) the bus stop by the time 1 reach there.
Options:

1) would have left

2) will be leaving

3} will leave

4) no improvement

Comrect Answer: would have left

Candidate Answer: would have left

QID : 179 - Improve the bracketed part of the sentence,

{Having had) in the USA Embassy for a long time, Mr. Gupta has met many prominent personalities.

Options:

1] He has been

2) Having been

3) Had he been

4) no improvement

Correct Answer: Having been
Candidate Answer: Having been

QID : 180 - Improve the bracketed part of the sentence.

The quest stopd quietly for (few) moments.

Optiong:

1) a few moments

2) the few moments

) few time

4) no improvement

Correct Angwir: a few moments
Candidate Answer: a few moements

QID : 181 - In the following question, out of the four alternatives, select the alternative which is the best substitute of the phrase.

Govarnmeant by a few people
Options:

1) aristocracy

2) cligarchy

3) dictatorship

4) bureaukracy

Correct Answer: oligarchy
Candidate Answer: cligarchy

QID : 182 - In the following question, out of the four alternatives, select the altemative which is the best substitite of the phrase.

The state of Iving yomarried
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Options:

1) celibacy

Z) neogamist

3) chaperon

4] implorer

Correct Answer: cellbacy
Candidate Answer: celibacy

QID : 183 - In the following question, out of the four alternatives, select the alternative which is the best substitute of the phrase.

An event which happens once In five years
Options:

1) septernial

Z) quinguennial

3) interregnum

4) pun

Correct Answer: quinguenrial

Candidate Answer: quinquannial

QID : 184 - In the following question, out of the four alternatives, select the altemnative which is the best substitute of the phrase.

A person who looks after horses at an ihn
Options:

1) matron

2) chandler

3) ocer

4; effeminata

Correct Answer; ostler

Candidate Answer: [ NOT ANSWERED ]

QID : 185 - In the following question, out of the four alternatives, select the altemative which is the best substitute of the phrase.

To struggle helplessly
Options:

1) implorer

2} yokel

3 flounder

4] chum

Comrect Answer: flounder
Candidate Answer: floundes

QID : 186 - In the following question, four words are given out of which one word is incorrectly spelt. Select the incorrectly spek word,
Options:

1) adherant

2) aironaut

3) agdversary

4) admissible

Corract Angwaer: aircnaut

Candidate Answer: admissible

QID : 187 - In the following question, four words are given out of which one word is incorrectly spelt. Select the incorrectly spek ward.
Options:

1) passenger

2) quarrelled

3) remittance

4; attendence

Correct Answer: attendence

Candidate Answer: [ NOT ANSWERED ]

QID : 188 - In the following question, four words are given gut of which one word is incorrectly spelt. Sefect the incemectly spek waord.
Options:
1) beautisian

2) bilingual
3) barbarian
4 balloon

Correct Answer: beautisian
Candidate Answer: beautisian

QID : 189 - In the following question, four words are given out of which one word is incorrectly spelt. Sefect the incorrectly spek word.
Options:

1) embarrassment

Z) exasperation

3) emanicipation

4 fermentztion

Correct Answer: emanicipation

Candidate A t embarrassment

QID : 190 - In the following question, four words are given out of which one word is incorrectly spelt. Sefect the incorrectly spek word.
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Options:

1) gorgeous

Z) granduer

3) gratuitous

4) gluttor:

Correct Answer: granduer
Candidate Answer: gratuitous

QID : 191 - In tha fallowing passage saome of the words hava been laft out. Raad tha passage carefully and select the corract answar for the given
blank out of the four alternatives.

Youth is the git of the god, says an old "upanishad”, Let us
the world with feelings pure and with urwioridhy.

in it. Tt is the great formative of our life, brief but powerful. We are then able to

Youth is the gift of the pod, says an old "upanished".
Options:

1) inexpensive

2) best

3) useless

4} small

Correct Anawer: best

Candidate Answer: best

QID : 192 - In the following passage some of the words have been left out. Read the passage carefully and select the corract answer for the given
blank out of the four alternatives.

Youth isthe ____ gift of the god, seys an old "upanishad™. Let us _____ in it. It is the great formative
_____the world with feelings pure and with ____ unworldhy.

of qur life, brief but powerful. We are then able to

Let us in it. It is the great formative
Options:

1) rejoice

2} live

3} dance

4) sleep

Corvect Answer: rejoice

Candidate Anawer: live

QID : 193 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given
blank out of the four alternatives.

Youth is the gift of the god, says an ald "uparishad"”. Let us in it. Tt is the great formative
the weorld with feslings pure and with urtworidhy.

of aur life, brief but powerful. We are then able ta

of our life, brief but, powerful.
Options:
1) lesson
2] resounce
3) period
4 idea
Correct Answer: period
Candidate Answer: pariod

QID : 194 - In the following passage some of the words have been left out. Read the passage carefully and select the cotrect answer for the given
blank out of the four alternatives.

Youth is the aift of the god, says an old "uparishad®. Let us
—_ the werld with feelings pure and with _____ urworidly.

init. It is the great formative ____ of pur life, brief but powetful. We are then able to

We are then able to the world with feelings pure
Options:

1) challenge

2) roam

3) target

q) face

Correct Answer: faca

Candidate Answer: roam

QID : 195 - In the fallowing passage some of the words have been left out. Read the passage carefully and select the correct answer for the given
blank out of the four alternatives.

Youth is the gift of the qod, says an ald "upanishad®. Let us in it. It is the great formative
the world with feslings pure and with urworidhy.

of aur life, brief but powerful. We are then ghle ta

and with unwarkdly.
Options:

1) ambitions

) passively

3 religiously

4) resources

Correct Answer: ambitions
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Candidate Answer: ambitions

QID : 196 - A passnge is given with five questions following it. Read the passage carefully and select the best answer to each question out of the
given four alternatives.

Antarctica is 2 mostly unpopulated continent. It is the coldest, driest and most remote place in the world. And it is the world's only continent that does nat have a
native population. No single country owns the Antarctic. However a number of countries, ncluding Armgenting, Australia, Chile, Hew Zealand, Frence and the United
Kingdom, have already laid claim to the Antanctic and others will probably follow. In some araas of the continant, two countries claim the same land.

The Antarctic Treaty was signed in 1959 and createc the rules for the exploration of the Antarctic. The treaty forhids military activity in the Antarctic, as well as
mining. Many countries, however, think that there are valuable materials and minerals tocked up under the frozen Antarctic ice. In addition, the treaty bans nuckear
testing as well as dumping ruckear waste, The Antarctic Treaty was made te protect the continent and avoid further disputes, By 2048, the treaty must be renewed.
Mew rules and regulations could be imposed by then.

Currently, almost all of the 70 bases in the Antarctic are used for research and scientific activity. The snow-covered continent is perfect for tracking satellites and
space research because it offers clear blue, cloudless skies. Climatelogists are studying the development of the ozone Iayer with growing concern. It was here that a
hole in the layer was discoverad for the ficst time, More than 4000 scientists operate the research stations in the Antarctic summer, while oply about a thousand
popukate the cortinent during the harsh and severe winkers.

Enwironmentalists fear that explaiting Antarctica for military and economic reasons wil damage the environment. At present, there is no economic activity in
Antarctica, except for cruise ships that travel around the continent. This could change, if a new treaty allows mining in the Antarctic. As mineral resources are
dwindling in other areas, nations could turn ko Antarchica to find and exploit valuable raw materials,

Some geologists say that there are over 200 billion barrels of cil under the Antarctic ice. At the moment getting at these reserves would be very expensive. In
addition, ecanomic experts claim that there are large amounts of coal, nickel and copper under the Antarctic ice.

Which countey's name is not being mentioned in the passage?
Options:

1) Argentina

2) Chile

3) New Zealand

4) Austria

Correct Answer: Austriz

Candidata Answer: Austria

QID : 197 - A passage is given with five questions following it. Read the passage carefully and select the best answer to each question out of the
glven four alternatives.

Antarctica is 2 mostly unpopulated continent. It Is the cokdest, driest and mast remote place in the worid. And it is the world's only continent thet does not have a
netive population, No single country owns the Antarctic, However a number of countries, including Argenting, Australia, Chile, New Zealand, France and the United
Kingdom, have Areadly [aid claim to the Antanctic and others will probably follow. In some areas of the continent, two countries claim the same land.

The Argarctic Treaty was sioned in 1959 and creates the rules for the exploration of the Antarctic, The treaty forbids military activity in the Antarctic, as well as
mining. Many countries, however, think that there are valuable materials and minerals locked up under the frozen Antanctic ice. In addition, the treaty bans nuckear
testing as well as dumping nuclear waste, The Antarctic Treaty was made to protect the continent and avoid further disputes. By 2048, the treaty must be renewed.
New rules and regulations could be imposed by then.

Currertly, almost all of the 70 bases in the Antarctic are used for research and scentific activity. The snow-covered continent is perfect for tracking satellites and
space research because it offers dear blue, cloudless skies. Qimatalogists are studying the development of the azone layer with grawing concern. It was here that a
hole in the layer was discovered for the first time. More than 4000 scientists pperate the research stations in the Antarctic surmmer, while anly about a thousand
populate the continent during the harsh and severe winters.

Erwirpnmentalists fear that exploiting Antarctica for military and economic reasons will demage the environment. At presert, there is no economic activity in
Arttarctica, except for enuice ships that bravel around the continent. This cauld change, if 2 new treaty allows mining in the Antarctic. As minzral resources are
dwindling in other areas, nations could tuen to Antarctica o find and exploit valuable raw materials.

Some geoclogists say that there are over 200 billion barrels of oll urder the Antarctic ice. At the moment getting at these reserves would be very expensive. In
addition, economic experts claim that there are large amaounts of coal, nickel and copper under the Antarctic ice.

When was the Antarcgc Treaty signed?
Options:

1} 1959

2) 1958

3) 1960

a) 1969

Cotrect Answer; 1959

Candidate Answer: 1959
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QID : 198 - A passage is given with five questions following it. Read the passage carefully and select tha bast answer to aach question out of the
given four afternatives.

Antarctica is a mostly unpepulated continent. It is the coldest, driest and most remate place in the world. And 1t is the world's only cortinent that does not have a
native populztion. Mo single country pwns the Antarctic. However a number of countries, including Argentina, Australia, Chile, New Zealand, Franoe ard the United
Kingdom, have already laid claim to the Antarctic and cthers will probably follow. In some areas of the conlinent, two countries claim the same land.

The Antarctic Treaty was signed in 1959 and creates the rules for the exploration of the Antarctic, The treaty forbids military activity in the Antarctic, as well as
mining. Many countries, however, think that there are valuable materials and minerals tocked up under the frozen Antarctic ice. In addition, the treaty bans nuckear
testing as well as dumping nuclear waste. The Antarctic Treaty was made to protect the continent and avoid further disputes. By 248, the treaty must be renewed.
New rules and regulations could be imposed by then.

Currertly, almost all of the 70 bages in the Antarctic are used for ressarch ard scenitific activity. The snow-covered continent is perfect far bracking satellites and
space research because it offers dear blue, cloudless skies. Climatologists are studying the development of the ozone layer with grawing concern. It was here that a
hole i the layer was discovered for the first time. More than 4000 sclentists operabe the research stations in the Antardtic summer, while only about a thousand
populate the continent during the harsh and severe winters.

Erwironmentalists fear that exploiting Antarctica for milkary and economic reasons will damage the environment, At present, there is no economic activity in
Antarctica, except for cruise ships that travel anound the continent. This could change, if 2 new treaty allows mining in the Antanctic. As mingral resources are
dwindling in other areas, nations could turn to Antarctica to find and exploit valuable raw materials.

Some geologists say that there are over 200 billion barrels of oil under the Antanctic ice, At the moment getting at these reserves would be very expensive, In
addition, ecanomic experts claim that there are large amounts of coal, nickel and copper under the Antarctic ice,

Why was Antarctic Treaty signed?
Ooptons:

1) to protect the oontinent

2) to ban dumping of nuclear waste
) to create rules Far its exploration
4) All of these.

Correct Angwer: All of these.
Candidate Answer: Al cof these.

QID : 189 - A pazsage is given with five questions following it. Read the passage carefully and select the bast answer to each question out of the
given four alernativas.

Artarctica is a mostly unpepulated continent. Tt is the coldest, driest and most remota place in the world, And it is the world's only continent that does not have a
native population. Mo single country owns the Antarctic. However a number of countries, including Argentina, Australia, Chile, New Zealand, France and the United
Kingdom, have already laid claim to the Antarctic and athers will probably follow. In some areas of the continent, two countries claim the same land.

The Antarctic Treaty was signed in 1959 and creates the rules for the exploration of the Antarctic. The treaty forbids military activity in the Antarclic, 25 well as
mining. Many countries, however, think that there are valuable materials and minerals locked up under the frozen Antarctic ice. In addition, the Ireaty bans nuclear
testing as well a5 dumping nuckear waste, The Antarctic Treaty was made Lo protect the continert and avoid further disputes, By 2048, the treaty must be renewed,
New tules and regulations could be imposed by then,

Currently, almast all of the: 70 bases in the Antarctic are used for research and scientific activity. The snow-covered continent is perfect for tracking satellites and
space research because it offers dear blue, cloudless skies. dimatalogists are studying the development of the ozone layer with grawing concern. It was here that a
hole in the layer was discovered for the first e, More than 4000 scientists operate the research stations in the Antarctic summer, while only about a thousand
populate the continent during the harsh and severs winters.

Erwvironmentafists fear that expleiting Antarctica for military and economic reasons will damage the environment. At present, there is no econemic activity in
Artarctica, except for cruise ships that travel around the continent. This could change, if @ new treaty allows mining in the Antarctic. As mirieral resources are
dwindling in other areas, nations could turn ko Antarctica to find and exploit valuabla raw materials,

Some geologists say that there are over 200 hillion barrels of cil urder the Antarctic ice. At the moment getting at these reserves would be very expensive. In
addition, ecanomic experts claim that there are large amounts of coal, nickel and copper under the Antarctic ice.

Why did erwironmentalists have fear of exploidng Antarctica for miNtary and economic reasons?
Optiona:

1) unfavourable weather conditions

2) high involvement of anst

3) damage to environment

4) Nane of these
Correct A : damage to emar t
Candidate A td to envirgnment
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QID : 200 - A passage is given with five questions following it. Read the passage carefully and select tha bast answer to aach question out of the
given four afternatives.

Antarctica is a mostly unpepulated continent. It is the coldest, driest and most remate place in the world. And 1t is the world's only cortinent that does not have a
native populztion. Mo single country owns the Antarctic. However a number of countries, including Argenting, Australia, Chile, New Zealand, Franoe ard the United
Kingdom, have already laid claim to the Antarctic and cthers will probably follow. In some areas of the conlinent, two countries claim the same land.

The Antarctic Treaty was signed in 1959 and creates the rules for the exploration of the Antarctic, The treaty forbids military activity in the Antarctic, as well as
mining. Many countries, however, think that there are valuable materials and minerals tocked up under the frozen Antarctic ice. In addition, the treaty bans nuckear
testing as well as dumping nuclear waste. The Antarctic Treaty was made to protect the continent and avoid further disputes. By 2(48, the treaty must be renewed.
New rules and regulations could be imposed by then.

Currertly, almost all of the 70 bages in the Antarctic are used for ressarch ard scenitific activity. The snow-covered continent is perfect far bracking satellites and
space research because it offers dear blue, cloudless skies. Climatologists are studying the development of the ozone layer with grawing concern. It was here that a
hole i the layer was discovered for the first time. More than 4000 sclfentists operabe the research stations in the Antardtic summer, while only about a thousand
populate the continent during the harsh and severe winters.

Erwironmentalists fear that exploiting Antarctica for milkary and economic reasons will damage the environment, At present, there is no economic activity in
Antarctica, except for cruise ships that travel anpund the continent. This could change, if 2 new treaty allows mining in the Antanctic. As mingral resources are
dwindling in other areas, nations could turn to Antarctica to find and exploit valuable raw materials.

Some geologists say that there are over 200 billion barrels of oil under the Antanctic ice, At the moment getting at these reserves would be very expensive, In
addition, ecanomic experts claim that there are large amounts of coal, nickel and copper under the Antarctic ice,

According to the passage, the reserves of which mineral is not found under the Antarctic ice?
Ooptons:

1) coal

2 iren

F) nicke]

4) coppar

Correct Angwer: iron

Candidate Answer: iron
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